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@ General polynomial equation

Newton’s formula

@ Practice problems
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j/ [f a quadratic p(x) takes the value 0 at x = 2 only & P(3) = 4 then the value of p(4)

IS I8 P(x)_m also PE)=Y = \‘—:(3\"3')1
2 2 2p2( o PCx) =11§<’2)2
7 o’ - B° = R (<3 +FR) PR = PU)=Yy.y=16

\8./ If coefficient of a quadratic are all odd integers, then roots of the quadratic
cannot be _ Rationa.

Q\eyY Cﬂ?g-?— KA1 0
9./ If product of roots of a quadratichis negative, then roots of the quadratic

cannot be _maginavy




R e c a p Of /0/*'8-0(:0&0;/ {ec?ujnef

}/1. Ifa,b,c € R,D < 0 then roots of ax? + bx + c = 0 are '*"Qﬁi”""g“ hence if one
rootisi- 3 then otherroot _— 3

Ifa+b+c =0thenrootsofax?+bx+c=0 thenrootsare %:

~

}é. Ifa-b+c =0thenrootsofax?+bx+c=0 thenrootsare —' ~ Ya
)4. Ifa=1,b,c €1 &D isa perfect square.= vayte ave hotegers.

1)/& If a, B are roots of x* — x+ 7 = 0 then equation of with roots 2a—1 & 2B —1 is
S eang AR,

ops - 5

PGk R 2ty 2




Homework Discussion






Aao Machaay Dhamaal
Deh Swaal pe Deh Swaal




CﬂEgﬂONj>

Let A, and A, be two values of A for which the expression x* + (2 —A)x + A — % becomes
a perfect square. The value of (A? + A3) equals

® )
U+X'=Ux -YAr+z=
o +1=0< ‘
%/ 50 A+ A= (@‘-*A.S'—n\);,
= R \W4=S0hAnx
(D) 100












QUESTION )

: 2b+3c
because he wrote the sign of a term wrongly. Then the value of
QX+ bx+C=0 has e eal et = D= L-—Yac <O —) 0= > <Yac .= Yoac=

My X :

p —— N 4

My Y -
S—-_/

i

Lovbte Rigm nzg o tevrm Woncan

N
yaote —\\y

& 3 o= 3% RRVARRN

Jhor=-Y
\
(-(> :*\\ *

W R KCLSH

Reods LSOy voli,s Of O
Q' x*4+ bx+C= O<

ha

P
@
Given that the quadratic equation ax* + bx + ¢ = 0 has no real roots, but Mr. X got two
roots 2 and 4 since he wrote down a wrong value of 'a’. Mr. Y also got two roots -1 and 4

= is equal to

+Lwe
Y
QICQ'K—O'#
< O'R='—6:-—__L.__ Lo Q'an
o,’> -b =3
POR: =y < H
Q’ UL=-3c .
4
k,QMOga“a—e)
S'\a-m
b-o-pe &\/_\ Qa, Q:Q\vesczme&\%q
, o N
0R=-Y . dik

i e <\_/Q 'R have %&i%}\_
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QX bx 4+c=0 A (B
2 ‘Cp =3¢ = P

X%+ X +|.=o-</ 2
—)+J30

<P = 2~ D= 1-4=-3 =

'

2 ¢

lc—p)= | 3] = J3F

B
o=
3‘\'

l 3
\/



QUESTION [JEE Advanced 2016] > *H*ASRQ¥* ¥ @

Let S be the set of all non-zero numbers a such that the quadratic equation
ax’ —x+a =0 has two distinct real roots x; and x, satisfying the inequality
|x; — x5| < 1. Which of the following intervals is(are) a subset(s) of S?

2 . &
4 _L) ocx-x+o¢—o<xl
2’ 5 |x|—xz‘ < | Shnee X ;X2 ER
: = D= \-V«*>0
D
—?’0) \a) - Yt < |
- WL € (&0(-—\) (1x+\)<0
ﬁ) \ o<\ € (-, ')
\{\‘\\0("<\°(\ n OLQ('L ok L)
1 2 {g\\)&\r&' '2_>
,—) =Y ot €
VA" Sl > Relmel g [y
% &)V Qg o)

Sot- ) (fs0y
( \“s \3>0 Ans. A, D









General Polynomial Equation) @

- -p) (x-Y)
CoX>+& x>y ayx +ag= Oo(X—%) (X

9 = Qo (X% ()X +P) (X7T)

3 2 — —> B -,-ar.,()x——o(ﬁ')
. 4+ 4+ — e U P+FY
2 3 =7 K== (e(,+'3'|'")x +(

— (- & Y
3 (ot Y)Xa' G (,(ﬁ-.—FY-v—Yo() Qo P
3 2, g x+ay =GR Qo ' I
X oX ’TQP( —+G !

- ~ §": O(“!"‘g;‘f Y= =

=2 Y = Q>
Qo (o4 RY+Y k) =G5~ Sy= L PRy T o.
—QA, KRy =2 =~ oqu %0

— Qy (o<+\3+x) =G

O3 o+ Ox\= Q-ég
Y

:0(%-*.:_\3
], R+ =



*
o

- + + ol
7 2
) 24 cx24+dx+€=0
X + bX v
S

Q':a(-p—}a-v—'r +S=—£_

C ©
ocF>+o<Y+0<S+F>Y*P&+rJ @

C, =

c]

Qy= <pl + RS + L g THplE=TT

- = 5 A
Ex: X2 + X =N x+S= 0{"”
N r
- — 6 =-—6
o(-!-F‘t-Y_ -
O(%F\r«\» Y= + &) =-\\

\
3 st ert= Q§ SClv==18) - g
Cx: x x> B % \

R *+8=0
a(?ﬁ °(“\’°(8+‘3‘-\ \£&+‘( S=4¢( s\ =—% .

-
—

\

— s
W 03X 674 1=0)



QUESTION )

—

= “+
Given that the equation x® — px? + qx — r = 0 has roots o, 8 and v, find

(i) o +pB*+y” =0 @(fp-rr)’:. 2 (Lp+Rr+ T)

i) o +B°+vy’
(ii) Py _ el

L2+ BRI+ VR 3 Br= (< +p+) (“\M:L*F’::’JLO(P—FY—‘M)

= P (prag— (<prperr)

=P (Pr2q.-9)
AR+ v3—a(x) = P (P=2y)

¥y PR = P'i'é.'\sql-\rz;g .









QUESTION )

YA ~
Let a, B,y be roots of x* + 2x% — 4x + 5 = 0 find value of

L2426 =YL +5=0
A2+S = Yoe—2x™>

ol =L pe E= @3-;-5')(]33—\—5)((3-\5)
gf‘é{, ST (2-]R) ) 3¢ RY
- :_o( (2-e¢) :,"é;(z——\s) ZY (1")‘

y34s=2v (2" Y)
B,

t= %- G-<) G-p) (>-Y)

. 3
Voo, K+ 2EWES= o) (o) ey
PUAX=2 R4g-8+ S = (-«)Cp)h-y)

- «) (>-§) (-Y) =\

== 2 \a= X Pws
3 —



QUESTION )

Ifa, B,y areroots of 5x> —gqx— 1 = P T
Y q = Bv ay af
. Gx3-gx— !—o{'ﬁ E= #3-3L +BE3pHIZ3r
Cx2+0-X=9X%X-|=0 AP

S~ (+p+Y=0

| E_‘_ - o<31-g,3+(3-3 (.(_'_’3-1'7)
\zsL 3412 =3xRY ==pr
(==
oL 3+ R34 = 0

E= 3Ry 3(t+RYY)
o< RY

€= Pns













Gy
Newton's Formula> (y)
= P -l—@’BY) p,qg axc Conciamis.

ot
OLX:‘+LK+C=O< F

- . o N
G HhwArc=0, G TepEe=O rruttiply bote €S g P

| > n Tt D Cc=0
Murtipy bett @ pec™ 4+ bpe™ My cp=0 @ L E"+ bR rqf

~Ricles by PP \(9/

n )=
Q(P““*"-rcb\&““)-\—b(?o(“‘”-srq,\a’“*‘) y € (pL+9R")

Lhere . |
i 0'RFD
e o L 2y
\g» P.Q.RIO



P
g':OC-F‘B:S_ M@ gn:a(’n_'_PY}/—? wewcnn-ef_'
°=|""=L e :
§0=°<0+P
Sy e
pux- n=-|
= BT S D

S =
~—

SW-SRopisg
Q= TSRI=2g

\"\\‘ =\e- =27y

Ss -S(23)17.20=0
Sy = \W§—\p=—4d5.









QUESTION [I1T-JEE 2011] )

Let o, B be the roots of x* — 6x — 2 = 0 with a« > B ifa, = a™ — B",n > 1. Then find the

310_238
value of e m@D NF Qpio —6Cnsy ) ~ 290 =0
9 N——
N
pPu n= 'S
S————r
Qp- 228 = 6§29
Rip—-22 =3
S Y
0(8_60(-—?: ~6‘?> M@ «\° ‘0_1@?_@{)
() e "
zﬁﬂ_ ‘l“) AL 2= 6k
SLAE) - o Voot ~RO4 2R By g 2=CR
S) (*‘\3@) 29 \5?)

o (L ) - RS ( RZ
(o 1)1& S% 2)



QUESTION [JEE Mains 2021] ) @

* N ASRQ* % 4
If o, are roots of the equation x? +5(v2)x+10=0,a> B and P, = a® — B" each
P{7P5o+5Vv2P{7P
positive integer n, then the value of | —= L. —— 22 ) is equal to
P1gP19+5V2P%g
—_RBY S (on"'gﬁpﬁ)
X% Eda % HID=0N s B R el =17

- Pe (P,q"”gﬁﬂg)
v =

= Po+lohie =0
NEIE R e R, . Pe (—'0Fn)

P, st Pg= 0 R -

= Py SR Py RAMEEV
Pt SE Py =70 Py






QUESTION [JEE Mains 2020] ) A *ASRQ* 4 @

Let a and B be the roots of the equations x2 —x — 1 = 0. If P, = («)¥ + (B)X, k > 1, then

which one of the following statements is not true,

@ B =R :

— =1+*
(P1+P2+P3+P4+P5)=26/& ‘Dg-P\‘—szo/g/__\Fg—F\‘+?3

Fa: Ps"'P\| W B
@ P5=11/ Eﬂ Py = R +P, = 3xi=y
| b= R @)k p= ta=g
Ps =P, - P3 X P e |
\

PP Pt D B=26









QUESTION [ JEE Mains 2023 (11 April)] ) @

S
*k ASRQ*A* e
If a and b are the roots of equation x* — 7x — 1 = 0, then the value of - 1+: 1::219”)1
is equal to Q= QN+ L0 x2_7x—p_—_0<: \gﬁ
ByNE € e =9
gl o - -soc.q—‘(s,'; -

Sz L Tao - g\‘i =
Pud Nn=\§& ;

~—— gi'o_jg‘q— 2)g=0 *7]

S|

wk n=l) ~
PW Q\q -——"-!,&\%- S\_‘, 0/—<\

g}_\*s\&\q-\rgﬁ ;O
S S =S\ S\Q‘

v Sy o 5\

Q
4 Ans. 51



QUESTION [JEE Mains 2023 (11 April) ] ) @

) 0.0 ¢ ) 3 WY
** ASRQ e\
1 1 1 1
' as“+b° " +a"‘+b
If a and b are the roots of equation x* — 7x — 1 = 0, then the value of 219 +p19
| a
is equal to &) X x—1=0L § \g/q
\/\/ 1— _ |
O -qa-=0" o —’Q'\ SRS
a1l + et IRl o e L (L +) oY) —ao>=Y3a™

\7 -
_ als\wak-Sh
SRR

\
==X \Q‘O‘ "\"‘a€> <

Q";\ P

’
¢

Ans. 51




































Bumper Practice Problems )

7.

10.

11.

- and :
10—72 10+6V2

Form a quadratic equation whose roots are the numbers

Find the least integral value of k for which the equation
x? — 2(k + 2)x + 12 + k? = 0 has two different real roots.

For what values of a is the sum of the roots of the equation

x? + (2 —a—a%)x — a® = 0 equal to zero?
9Qoxy) = - C)\/\ 2 Should

hav
For what values of a do the graphs of the funcﬁons/(Q_Q)X o= 0 w:: e
y = 2ax+ 1andy = (a — 6)x% — 2 not intersect? ¥ 3836 e 0 N
)4(; A-3)(e-<)<o .
For what values of a is the ratio of the roots of the equatlon x +ax+a+2=0
equal to 27? Fas6 —ax-asg Qe 6&\/\ > 432-18<Q

PN o) @36)(@-3) ¢
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